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FIRST PART

Child Development and

Pedagogy

In this age of academic excellence
demand, inclusion of games and sports

in schools 1s :

(A)
(B)

(©)

A wastage of time

Taking away a lot of time from

academic work

Giving time for leisure or relaxation

Necessary for the co-ordinated
development of the individual

The best place for social development for
a 12 years old child is :

(A)
(B)
(©)
(D)

Neighbourhood
Family
Playground
School

The personality in childhood is :

TUH HIT

a1l Taenta wa forerm o

SRS Septal ®1 A % 39 21 H,
faremrerdi o Seighe 1 GHEY §

(A)
(B)

(©)

(D)

T FI SEial
TR FEl 9 9gd 1 o o

e st fagm (e ) & fog
g oAl

st fagiw & wufaa fasm 29
IEIF ©

lemwimﬁmﬁwt
mﬂaﬁwm%

(A) IE-ISH

(B)

©
(D)

qfEar
@A F A8H
faemes

(A) Introvert

(B) Extrovert (B) et
(C) Ambivert (C) SHIqEl
(D) All the above (D) o et
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How shall you help a student who has

failed in the half yearly examination ?

(A) By giving grace marks

(B) By holding re-examination

(C) By re-teaching difficult concepts

(D) By asking parents to arrange
private tuition

How can a teacher motivate the students
for learning ?

(A) By maintaining discipline
(B) By asking questions
(C) By arousing curiosity

(D) By story-writing

How can a teacher help the students in
the formation of good habits ?

(A) By
activities

(B) As arole model

organizing co-curriculur

(C) Use of reward and punishment
(D) All the above

According to NCF 2005, the role of
teacher has to be :

(A) Permissive

(B) Authoritative

(C) Facilitative

(D) None of the above

4,

e foneft St srfarfies wdien & el @
T ], 379 IHH! HeT FY HT 2

(A) FUF YSH Fh
(B) TA: T F A Hh
(C) hfea sraumronsii sl q3: 719 i

(D) TTERRI i ST STEATT S SHaw
HT HI FehT

T forares 3t BEl = e ¥ fau S99
sifafa s ?

(A) STIIET g

(B) W BRI

(C) formar s

(D) FEF A& §H

e frees 1o faenfo=i 4 =8t aned s
H % TeraE o T T 7
(A) TrEa-emHt fEmed % swdieE g

(B) UH AR F ETH
(C) YTEHKR 991 39 % T4NT §RI
(D) ST g

NCF 2005 % 31q9R foees 1 sifirem 2
=1fen :

(A) STTHS

(B) wrEfoTEh

(©) ¥«

(D) 9= H | &1 AL
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10.

11.

According to Piaget at what stage a child 8.
becomes more logical in concrete things,
but lacks abstract ideas ?

(A)
(B)
©
(D)

Pre-operational Stage
Sensory Motor Stage
Concrete Operational Stage
Formal Operational Stage

Mental Retardation in child can be due 9.

to:

(A)

(B)

(©)
(D)

Which is not a true quality related toa  10.

Causes operative at the time of
conception

Causes operative inside the womb
of mother

Due to some accident after birth
All the above

Problem Child ?

(A)
(B)
(©
(D)

Learning disability is caused due towhich ~ 11.

Stealing
Expressing anger
Socially adjusted
Telling lies

factors ?

(A)
B)
Q)
(D)

(
(

Heredity factors
Physiological factors
Environmental factors

All the above

e % AR a9 HG qH A % A
S difehen wifepd ST foaml 1 s1wE &1
staee B I S € 2

(A) Td Hfrarers e

(B) Hodl Y¥itg syeredn

(C) W Hfepares sawn

(D) i Hiwares s

A WA HeH I I8 T8 B Foha1 © :
(A) Tefiur % Fwe fEEeier HRo
(B) Wl % Y T ferATeier T

(C) < % 1% fFeft gee & ey
(D) 9l qft

TS et @ Hefua A o I T
& R?

(A) TR HE

(B) HIY YHE HEA

(C) T w9 | wHES

(D) e e

arfenTy StervET FF RO | BT §?

(A) ST FON
(B) ¥mfish R
(C) raTER FET HRol
(D) ST wHI
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12

13.

14.

15.

In ‘Child Growth and Development’,
Growth is related to which aspect of
personality of child ?

(A) Mental

(B) Physical

(C) Character

(D) Emotional

Which of the following strategy is
problem centered ?

(A) Project

(B) Heuristic

(C) Discovery

(D) All of the above

Which of the following statement about
the role of a teacher is correct ?

(A) Teacher should be a critic body.
(B) Teacher should favour good
students.

(C) Teacher should have a friendly
attitude towards students.

(D) Teacher should maintain distance
from students.

An infant smiles in response to her
mother’s touch is an example of
process.

(A) Cognitive
(B) Biological
(C) Socio-Emotional
(D) Analytical

124

13.

14.

15.

‘e 1 sifvafe ve fw § afgly
Y% JeTshi & sAfdTe & 6 9y @ gafug
2?2

(A) wHfawH

(B) vmifis

(C) =i

(D) HaAMeHSH

Freferfas % & $5 o e arer Fie
22

(A) TS

(B) sty

© ==

(D) 3udre T

Frerferfea & 4 % w1 wu foers 3t g

& Hay § g 2

(A) T =1 wAre=RTs 8 =i

(B) Tuers =i orsd farnfifdil =1 way oy
Hifeq |

(C) Toer w1 foenfea & gfy firmeg
gfteenio 21 wnfen |

(D) Toer =i faenfoal @ < ammae v
ey |

T T 3G 711 % w09 &6t wfafawa 3§
Tpaa B W e A ) g vfear o
ISR & ?

(A) HIETHS

(B) Sifgw -

() wmfS-dames

(D) foveyumens
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16.

17

18.

A child whose educational attainments
is lower than what he is capable of can
be called as

(A) Gifted Child
(B) Backward Child
(C) Delinquent Child

(D) Handicapped Child

The

framework by NCERT came into existence

latest National Curriculum

(A) 2000
(B) 2004
(C) 2005

(D) 2006

Which is not a true statement fora 11 year
old child ?

(A) Tends to play in groups.

(B) May develop leadership qualities.

(C) Shows tantrums against strangers.

(D) His behaviour is influenced by his
group.

16.

17

18.

T e Tormet e =t wifte g w R
w9 ¢ fous o 979 §, 5@ &
e HHA B

(A) wfaummedt ses
(B) fre= =
(C) U+t ares

(D) fosain se=

TGS 3.2, it TaHa qreT=T S w9

(A) 2000 7
(B) 2004 #
(C) 2005 H

(D) 2006 §

U 11 9919 9= 9 Haiad A 91 H99 gl
TR 7

(A) W T @ & fer st e ¥

(B) 3&¥ g & il I faw @ gkl
Tl

(C) swmfaal & fovy fasfasms g=e
F 2

(D) U HFER W TYE 1 I9E 8l ¥
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19. If the learning disability of child is related 19, Afe F/& ¥ 3IfHm emar &1 Gay Hagd
to Sensory-Motor system then the el e dF T ST S H # 91 fR iy =5
Programme used is : AT foa S B 7
(A) Witmer's Psycho Educational (A) TaH 1 G TSEvEe S
Programme

(B) The Pragmatic General diagnostic (B) T Umifes s e s fifeas
remedial approach THTH

(C) Strauss Lehtinen-Cruickshank (C) T\ Asfeaa-Trsire wHTgse i
Perceptual Motor Programme TR

(D) None (D) i o 72

20. What is used for teaching children with ~ 20. AT =31 I TgH & fog 1 woa i

hearing disability ? e ?

(A) Machine (A) =

(B) Brail (B) sefafy

(C) Sign language (C) Hishfaeh wrar
(D) All of above (D) Iule gt

21. William Kilpatrick is known for his  21. faferm feeifes =1 femwm & frg fafy §
contribution in which method of e ¥ o S e € 2
teaching ?

(A) Lecture Method (A) = fafy
(B) Project Method (B) dreiEe fafy
(C) Play-way Method (C) @ fafu
(D) Scientific Method (D) afes fafy

22. “The one word which best characterises 22, ‘‘fowviEwen ! gafaw wer 4 sfowfia w31
adolescence is ‘change’. The change is el U Ve & gftada | e ufteds wifes,
physiological, sociological and IS U8 AAaaE el T R
psychological”. This statement is of :

(A) Biggie and Hunt (A) forft w5 g2 &1
(B) Kilpetric (B) fererife i
(C) Jershield (C) wxfiee &
(D) Herlock (D) Al B
SPACE FOR ROUGH WORK / 7% &4 & ford =g
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23.

24,

25,

26.

Children’s can be detected by  23.
symptoms of behaviour like stress,
restlessness and stammering,.

(A) Intelligence

(B) Creativity

(C) Emotions

(D) Maturity

5 years old child on seeing a camel for 24.

the first time in Zoo, says “horse”. This
example depicts which process of
correction in cognitive planning ?

(A) Assimilation

(B) Accommodation
(C) Conservation

(D) Serialization

Modification in behaviour through  25.

experiences is known as :
(A) Achievement

(B) Interest

(C) Motivation

(D) Learning

The first Kindergarten was started by : 26.

(A) Friedrich Froebel
(B) Benjamin Franklin
(C) Johan Pestalozzi
(D) De Witt Clinton

5= & 1 39 AIRR & A=
I e, ST 3 FhET | ST ST ARl
]

A) s

(B) SHTCHRA

(C) wami

(D) fta=erm

5 o 1 e Teelt A fafearR § 3= W
TEFFEd S e | T S_E HEeTR
e # g guR 1 A TR FE
®?

(A) TSR

(B) THTESH

(C) &y

(D) FaEET

S F g SRR | B A uiEd
AT T ¢

(A) 3uefsy

(B) =

(C) =fugTom

(D) e

v feEsTmea iy oo ar
(A) el w3
(B) e Sefer 3
(C) e Trarst 3
(D) &t foe faeied A
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27. Another name of ‘Basic Education’ or 27, ‘afiyes firen’ = ‘= Al &1 377 AW R :
‘Nai Taleem’ is :
(A) Compulsory Education (A) sifrerd e
(B) New Education Policy (B) 2 foran +fifa
(C) Wardha Education Plan (C) =i T Frsn
(D) Sarva Shiksha Abhiyan (D) ud foan sifiEm
28. The aspects of mental development are : 28, TG fashm & 1% € :
(A) Emotions (A) Ham
(B) Intelligence (B) T
(C) Language (C) wm™
(D) All the above (D) SwirE gt
29, What is essential for Trial and Error 29. TIME TE YA gl Higd & fau =0 sevEs
learning ? %72
"(A) Motivation (A) FTm
(B) Barrier (B) @M
(C) Random Response (C) frefe gfaferand
(D) All the above (D) 3w |t
30. A child with Intelligence Quotient 85 will ~ 30. U aTer® forment gfgefsd 85 ¥ 38 =nfiga
be classified as : Tepar s -
(A) Average intelligence (A) T §fg
(B) Superior intelligence (B) = dfs
(C) Dull € w=IE
(D) Above average intelligence (D) ¥ | fue dfs
SPACE FOR ROUGH WORK / T% &g & fed s
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31,

32.

33.

fgdta 34,

=t

Y39 a1 U geiufaed (Interactive,
g
(A) et Gl o € e 2 e

(B) % a¥E % @I F HIl % Eid wihe
TE

(C) el FE TE F T wE B &
(D) T | FE T

‘G Ht e’ TR STl faeh #f g

QA HeEyl 87

(A) e faem we e faefea s H
gfie &

(B) == i ot S T U5 oo
forpfigd &0t &1 gfe @

(C) werft % I % el % ek § o °
w@YE 1 R w3 # gfe 4

(D) S i = €

37.

35.

36.

Aigd JIg el T g 7
(A) T & ofa ¥
(B) HaF HaH
(C) wg s FaH
(D) IwEa et

‘g FA R 7 WA 1 el TR AW 2
(A) e SfETEY 1 U HEE ¥

B) @1 H F ferg ErmfEn wdienl
T Sfee SIETE qHa T

(C) AT SHAR T FRARHE ag1 -l
Tl B ® |

(D) 394 i Wl

GyaTEE 374 1 9 o fom am A age
BaTg?

(A) o RN
(B

ae % A o

—

(C) =% sad
(

D) S9ge o A

T i 1 FE TAE e e ?
(A) G, T, S, fe
(B) eI, G, T, fererT
(C) T, s, e, fere
(D) g, v, feee, ser
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38, T % FTIER A % fee 9% €7 42, i =t feufa % euR T TR & R 90"
Ay ;AT ?
(B) =W (A) TR
© (B) =
D) T (€
(D) =R
39. e WA § Ted s 1 HiE T A ¥
() e 43. ‘qa’ W o v € 7
) forE (A) =
(© i A
(D) Svde i © T
(D) qATE
40, ‘v TE R R aw’ R wiE-a o
Fasa@ e s eI AdEF 44 fopr Tareht fagr 3 Svet wiedl &1 & &9
v & @d-3f o e 9= @ e 3T Ea @ g W © 2
YR TR 3 2 ? () fre
(A) W ERY #gfe A ®) et @
(B) H Ay w g W ©) i
(©) e d w3 gfe @ (D) T
(D) T8 & 8 T
45. s ST S ¥ A qiER § g e w
41, ‘AT’ YR 1 SARIAF T : g & 39 F FEd 8 2
(A) faeg (A) e
® ¥ (B) HIgHT
(C) & (C) WIRfrER W
(D) == (D) TSI
SPACE FOR ROUGH WORK / T &td & ferdl e
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46.

47.

48.

49.

“ e Brest Gt Tl % Afkwh H 9T
siferren feared (ua U E) " e sfea e
I U

(A) wWE®

(B)  iferh WEl ©

(C) o€

(D) =rifer Terd @

feramaeitor’ fard EHIE 1 SETRI €7
(A) SRt TOEN

(B) H TR

(C) e qeged

(D) W qeH

‘geTelt % A € S T A v fer’ w
a1 H H T HRE © 2

(A) HHIH HRH
(B) 3TUEH HH
(C) HAfEERTor Heh

(D) &4 FREH

R ¥ we # freiferd H T o1 e Wl

¥?

(A) % T AT B E

(B) wHeh & crifE i ol H AH
A

(C) HWE: T HeY fRE e
R A @ ®

(D) & AR Bl ¥

50.

Lyl

52.

w71 % Form =9 | WA &1 Y g s, 39 ¥
e 82

(A) ==

(B) . &A™

(C) e

(D) =N

Feqiferd § F T HUA 70T T & HEY

T e 82

(A) srafad ey favgs $9 TH I8 S
gl

(B) feu wu srafed ware 1 e off
G Y31 S 2 |

(C) srafed g 1 ¥y T S A
ereh g1 =MfeT |

(D) feu Ty smfeq TEM % FO AW F
g T FA GaHl g | qme:
TP S el

‘e W Wl TS @ B =y, gel Sue
e Hae £ 3R A4 mEa B A &
2 i STUiar 1 A 3 BH A SR )
o weft 5@ F1 wigva T o, aE St
T % 5@ TR 99E Gkl | T TE Il
s Wiiter fEr & A w e
et e g1’

swfEa e 1 3faa v freifed
o B FH |22
(A) HIHEM
(B) HIHH
(C) WA Thi =HTEE
(D) ST Al wE §
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53, g =i fifew gwasii § # @ e wivm - 57 ‘Firea A B’ & Ay UE U= B
w57 (A) st
(A) Tgfa =1 Wiz ®) s
(B) 314 &I T=AI
(©) Y|
() & ® I
_ (D) AT
(D) v i
58. ‘‘Hqul yeT o1 WifqEE TH-gHL ¥ TR
54. ‘Soeied’ & 9fy famog #E? et & sl SR HE: Hed W - 7
(A) IA+EA T e § 59 TR #1377
(B) T4+ AT (A) HIERT 9=
(C) =d: +@EH (B) g ==
(D) 3d+dEH (C) I 9
(D) T | HIE T
55. fyefefias § | Iyori-ame vl = 98 o
e 50, i Fdre & = e f R E
(8) .7 Y, f:?q (A) romeds R
i,
0 ; (B) HhHF Tl
(C) TS, s=T, Tehdl
(C) = g
(D) oTadl, 3YeH, IR
(D) S9gad ¥ HiE TR
56. ‘TEAd F1E B, 1Y HIE R e’ - e _ .
2 S Tt A B g E? 60, TreAfofad amel § vieerssh S ¢ :
(A) T SR B FHR (A) e S T g T €
(B) i i, T @I (B) B AR | e % WUSK B
(C) T THTAT, TR IACH (C) e H 9n fasfwal €|
(D) w19 YR sl Al (D) ¥ H TeEe 3Tt 2
SPACE FOR ROUGH WORK / T td & ford sme
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THIRD PART
English

Read the passage (i) & (ii) carefully and
answer the questions (Serial No. 61-75) given
below :

Passage (i) :

Our world is a hungry world - but it does
not have to be. It is a sick world - but it does
not have to be. It is an impoverished
world - but it does not have to be. How soon
can we change it ? What will it cost ? What
will our world be like afterwards ? Our task
can be stated safely enough. The right
combination of good land, good food, raw
materials, factories and healthy people can
produce a world of plenty for everyone. Today
we have at our command the knowledge to
enable us to build up the right combination on
a world wide scale. Fundamental to the whole
problem is health, because fit people have the
energy and inclination to take on bold
enterprises. What we must work for is to set
rolling a snowball of progress. It will gather
size as it travels. By making some countries
healthier than they were we make sure their
people will produce more food. As the food
production of the world increases, so will the
available energy of mankind grow greater. This
will lead to a higher production still of food and
other things. Gradually we shall get rid of the
dead-weight of illness and starvation that is

holding up progress. At an ever-increasing
speed we shall move towards a world of plenty
in which all share. How long will it take ? If
we put our minds to it, we can transform the
world in twenty years. But it will need the
nations to work together. The more we scare
each other and threaten each other, the more
we shall spend on preparing for a destructive
war and the less we shall spend on ensuring a
constructive and continuing peace. What will
the new, healthy, prosperous world be like
when we have built it together ? Making
guesses about the future is always risky, but we
can see some of the outlines of what is to come.
There will be less tension in the world because
there will no longer be such great differences
between the ‘have’ and ‘have-not nations’.
There will be more leisure for all because there
will be more fit people to share the work of the
world, and because atomic power and
electronics will be turned fully to the service of
man. The world will be more beautiful because
man will have time, money and energy to spend
on making it so. Ugly towns will be restored.
Deserts will be watered. Wars will become
increasingly less likely because we shall all be
directing our powers for the benefit of all. Each
of us has a choice to make. We can choose to
help transform the world, in however small a
way, or we can choose to regard the whole
matter as not our concern, and so leave the
world to drift towards disaster. We can team
up with what is just and right - or shirk our
responsibilities.
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63.

61. There will be less tension in the world Our world is hungry world-but it does
because there will no longer be such great not have to be. It is a sick world-but it
differences between ‘the have’ and does not have to be. Itis an impoverished
‘have-not nations.’ world-but it does not have to be.

_ The word in italics -impoverished is used
What does ‘the have’ and 'have-not bt
nations’ mean in the above line ?
(A) Noun
(A)  The rich and poor nations (B) Pronoun
(C) Adverb
(B)  The middle and rich class nations
(D) Adjective
(C) The rich and upper-middle class
nations
64. The writer in the passage says - “Each of
has a choice t ke”.
(D)  The neo-rich class and poor nations i e e e
What is the choice before us ?
(A) We can team up with everyone who
offers us a lucrative job.
62. Which of the following is possibly the nirin
most appropriate title for the passage ? (B) ' Onemust notfeel any responsibility
towards one’s nation and society.

(A) Health Issues and Their Impact (C) There must be a clear
understanding of what is right and
what is wrong and working in that

(B) A New World Hirectine

(C)  Wasted Wealth (D) We must sh?; ?‘,%_ly from all kinds
of responsibilities and remain
indifferent to the concerns of

(D) The Arithmetic of Health society.

SPACE FOR ROUGH WORK / % &g & fad s
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65,

66.

As the food production of the world
increases, so will the available energy of
mankind grow greater.

This will lead to a higher production still
of food and other things.

In the above sentence, the underlined

lead to isa:
(A) Clause
(B) Infinitive

(C) Past Participle
(D) Phrasal Verb

Fundamental to the whole problem is
health, because fit people have the energy
and inclination to take on bold enterprises.
What we must work for is to set rolling a
snowball of progress. It will gather size
as it travels.

In the above lines, the expression set
rolling a snowball of progress means :

(A) Start something to bring about
progress which will keep on
increasing like a snowball collecting

more Snow.

(B) Start something to bring about a
snowball collecting more amount of
snow in the houses in winter season.

(C) Rolling snowball in the snow to hide
the ugliness.

(D) None of these

67.

68.

What is wrong with the world ?

(A) There is scarcity of human

resources.

(B) There is plenty of economic
resources and no problem of money
is faced by people.

(C) There is no hunger and no health
issues but other challenges faced by
the people.

(D) Health and poverty are the major
challenges of the world today.

Which of the following statement is
not true in the context of the passage ?

(A) Health is a big issue in the path of
development.

(B) Even despite the proper
combination of food and land,
health issues pose a big problem in
development.

(C) The more amount of money we

spend on war, the more

constructive results we get.

(D) There will be less tension in the
world when there is complete
equality in society.
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Passage (ii) :

The term “comics’, broadly speaking,
describes a wide range of picture-story books
written specially for young people. The story -
not necessarily humorous, is told in brightly
coloured illustrations, the explanatory action
and dialogues floating gracefully in oval bubbles
from the mouths of the characters. Often, in
addition to the picture-stories, there are other
attractive features - articles on sport and
hobbies, short stories, letter from and to the
editor, a prize competition and a few alluring
advertisements. The writers of these comics
have rightly realized the ‘escapist’ impulses of
young readers and their themes invariably deal
with this impulse. The worst comics have
impossible situations, scrappy characterization
and a prose full of jargon. Their only virtue
appears to be that in the story good triumphs
over the evil. On the other hand, some ‘comics’
though not of the highest literary merit are
nevertheless written reasonably well. Most
youngsters sooner or later outgrow these
comics. But parents must guide their children
to select their comics than to forbid them to
read them,

69. The synonym of Alluring is :
(A) Tempting
(B) Nauseating
(C) Lousy
(D) Sickening

70.

71,

725

To forbid means :
(A) To provoke
(B) To provide
(C) To prohibit

(D) To promote

‘The worst comics have impossible
situations” mean that they are :

(A) Unrealistic
(B) Instructive
(C) Rational

(D) Both (B) and (C)

Often, in addition to the picture-stories,
there are other attractive features - articles
on sport and hobbies, short stories, letter
fromand to the editor, a prize competition
and a few alluring advertisements.

In the above sentence, Often is an :
(A) Adjective

(B) Adverb

(C) Preposition

(D) Conjunction

SPACE FOR ROUGH WORK / T% &4 & ford wmg
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74.

73,

The worst comics have impossible 76.

situations, Scrappy characterization and

a prose full of jargon.

The term Scrappy means :

(A) Tidy
(B) Pleasant
(C) Precise
(D) Facile

77.
The writers of these comics have rightly
realized the 'escapist impulses of young
readers and their themes invariably deal
with this impulse.
The underlined word '‘escapist js a :
(A) Noun
(B) Interjection
(C) Adverb =
(D) Pronoun

The antonym of Virtue is :

(A)
(B)
(©)

Weak

Vicious

Vice

Weird

Indenting and punctuation are the
sub-skills of :

(A) Listening skill
(B) Speaking skill
(C) Reading skill

(D) Writing skill

Receptive skills are :
(A) Listening skill and speaking skill
(B) Listening skill and reading skill
(C) Speaking skill and reading skill

(D) Speaking skill and writing skill

Which of the following statements is
true 7

(A) Textbook is the only source that a
teacher has.

(B) Textbook is complete in itself.

Textbook should be supplemented
with lots of outside readings.

Textbook should be taught from

cover to cover.

SPACE FOR ROUGH WORK / T% &rd & forat s
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79. Grammar can be taught inductively : 82. A child with learning disability would :
(A) Dby teaching the structures. (A) have difficulty in holding a pen.
(B) by solving the exercises on the basis (B) omit words or lines in reading,
of rules.
(C) display speech difficulties.
(C) by giving examples to derive rules.
(D) hold book close to his/her eyes.
(D) by telling the rules.
83. Remedial teaching is designed :
80. A person is said to be a good speaker (A} Sorshdentswith spedial needs.
when she/he :
(B) for drop-out students.
(A) speaks very fast.
(C) for bright students to get good
(B) usesidioms. matks.
(C) isable to convey ideas and feelings. (D) to support students who lag behind
in academic performance.
(D) does not make mistakes.
84. In which of the following methods or
81. Which of the following skills is involved approaches, the student’s native
- when you watch a TV show ? language is the medium of instruction ?
(A) Listening skill (A) Grammar - Translation method
(B) Speaking skill (B) Direct method
(C) Reading skill (C) Structural approach
(D) Writing skill (D) Communicative approach
SPACE FOR ROUGH WORK / T% &8 & forar se
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85. Language acquisition : 88. Reading longer texts usually for one’s

own pleasure is known as :
(A) is an informal process.
(A) Skimming

(B) is a conscious process. (B) Scanning

(C) takes place only in the classroom. (C) Extensive Reading
(D) can be done only with the help of (D) Intensive Reading
teacher.

89. When we want to test writing skills, we

test the ability of the students :
86. A good language test is the one which : e -

(A) to present the matter in a
(A) tests the students’ ability to

remember.

well-organized manner.

(B) to participate in spoken discourse.

(B) is knowledge-based.
(C) to understand the main thought.

(C) is textbook-based. (D) to make conclusions from the given

; extract.
(D) tests the students’ ability to use skills

in real situations.

90. If a student makes mistake while
speaking in class :

87. Which of the following expressions can
(A) She/he should not be allowed to

be used for apologizing to someone ?
speak in the class.

(A) Youlooklovely! (B) She/he should be told to learn

- I"IJ_I ¢
(B) Good morning! grammar rules

(C) She/he should not be discouraged

(C) Nice to meet YOU.! by the teacher_

(D) Iam sorry! (D) She/he should not speak in class.

SPACE FOR ROUGH WORK / T% @rd & fordl 51
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FOURTH PART

wqef W

Mathematics T
91. The area of a triangle is 216 cm? and its 91, Tt e =1 @rwer 216 a7t At & sin
sidesarein theratio 3:4:5. The perimeter ST YSIS H UM 3:4:5 § @ 39
of the triangle is : foegs =1 wfiemg
(A) 6cm (A) 6 Tt
(B) 30 cm (B) 30 &t
(C) 36 cm (C) 36 A
(D) 72 em (D) 72 |
92. Which of the following is unconnected 92, fr=fafEe #§ @ #9-m1 371 @ adafag 2
to others ?
(A) Addition of natural numbers (A)  wrefas Femst %1 9
(B) Multiplication of natural numbers (B) Wi Hemst %1 um
(C) Finding powers of a natural (C) Todt wipfaw T &1 =1 9@ w4
number
(D) None of above (D) SullEd wig Tef
93. The concept of area of triangle is : 93. TIYS % &=wa FF Heheu ¥
(A) Concrete (A) wd
(B) Abstract (B) T
(C) Both (A) and (B) (Q) (A) ¥R (B) gHi
(D) None of above (D) 9= H | #E T
94. Which concepts are more Abstract ? 94. HITH HeheqAl/ HaheqaTT sifu 3 ¢/% 2
(A) Geometric (A) e
(B) Algebraic (B) @eriurTH
(C) Numeric (C) HEAHF
(D) All are equally abstract (D) @it TOE 'Y H T €
SPACE FOR ROUGH WORK / T% &4 % ford e
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95,

96.

97.

Find the number of bricks, each measuring
24 cmx12 ¢cmx8 c¢m, required to
construct a wall 24 m long, 8 meter wide
and 60 cm thick, if 10% of the wall is filled
with mortar ?

(A)
(B)
©

(D)

45,000
50,000
58,000

60,000

The breadth of a rectangular field is 60%
of its length. If the perimeter of the field
is 800 m, then the area of the field is :

(A) 18750 sq. meter
37500 sq. meter
48000 sq. meter

None of the above

Find the value of

658 x 658 x 658 — 328X 328x328
658 658+ 658 328 +328 X328

(A)
330
658 x 328

None of the above

95,

96.

Vi

24 Th v, 8 wer dEl iR 60 [t A
Sar s ¥ ford 24 Uit x 12 Tl x 8 HA
a0 # feadt §2 @ afe PR w1
10% e TR | W A ?

45,000
50,000
58,000

60,000

AFAHR &5 F1 AISE ITH! TG H
60% ¥ | afg 39 & =1 9ftATT 800 Hex §, @
@ﬂﬂﬁmﬁ"ﬂ:

(A) 18750 = HiX
(B) 37500 =1 HiX
(C) 48000 = HieX
(D) Sude # | FE T

Frefefiad 1 99 0 FiT

658X 658 658— 328X 328328 _
658 % 658+ 658 328 +328x 328

(A) 986
(B)
©)

(D) 9 H | I8 T

330

658 X 328
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98. What will be the more effective way to 98, fa=nfi=i 1 Srvret =it Sehew =1 5oz =1
explain the concept of remainder to T THEHRT T E
students ?

(A) By collecting some cubes of same (A) THFA HAEHR F F3 T HI 355 Fh
size and by grouping them and by R T UUE S 3 S TR
changing the number of cubes in H T w1 e i agest a9 g
each group and showing the cubes [ERRCE R e e S
not in the groups

(B) By breaking a wooden stick into (B) TSI HI BT HI IHS § Wied HEAl
pieces

(C) By actual numerical division of (C) wEnuifeass Hem i ft Bt wafas
natural number by a smaller AT | e deares o gr
natural number

(D) All of above (D) 39fE |t

99. A certain amount earns simple interest of 99, fwet Teh T&H Al 7 HeT e HIYEI ==
1750 after 7 years. Had the interest been %1750 &1 IR WHRW <A 20% i &
20% more, how much more interest would 4t fehe sferes =aTS| 39 TR WU e ?
it have earned ?

(A) T35 (A) T35

(B) %245 (B) ¥ 245

(C) Cannot be determined (C) 9 & fohar s wepa

(D) None of these (D) 399 & % 7@

100. On dividing a certain number by 342, we ~ 100. f&dt F&m #1 342 § 9 3 W 47 S9Fa
get 47 as remainder. If the same number is 9T Bl €| A I Tem W 18 |y fam
divided by 18, what will be the remainder ? ST A TR T 8 ?

(A) 12 (A) 12

(B) 11 (B) 11

(C) 47 (C) 47

(D) None of the above (D) 9 | | FE T2l

101. The ratio of the cost price and the selling ~ 101. 34 He4 3R 56a o #1 oUE 4.5 T 1
price is 4 : 5. The profit percent is : Ty Hierd B
(A) 25% (A) 25%

(B) 40% (B) 40%

(C) 50% (C) 50%

(D) None of these (D) &4 9§ & T

SPACE FOR ROUGH WORK / T% % & ford sme
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102, If on selling 12 notebooks, a seller makes

a profit equal to the selling price of
4 notebooks, what is his percent profit 7

Q
16—%
(A) 163

(B) 50%
(C) Data inadequate
(D) None of the above

103. Which concept is very difficult for the

students to understand at class-I level ?

(A) Using symbols for different
numbers

(B) Counting of numbers
(C) Addition of numbers
(D) All of above

104. Which of the following is not correct ?

(A) Abstract concept should be given
at primary level

(B) Generalised concept should be
discussed at primary level

(€) Axioms
primary level

(D) All of above

should be learnt at

105. Which concept is not basic in 67 ?

(A) Itis symbol for number sixty seven
(B) Place value of 6 is sixty

(C) Place value of 7 is 7

(D) None of above

102. 12 Hiagi =t 9=H U fashar 1 4 Sl

103.

104,

105.

¥ foFa gea F auay o1y o ¥, SEE
wicrer emy fepern g 2

2,
(A) 16-3-,4,
(B) 50%
(C) 3ifws sTqaftm
(D) 3w H | #1E 7E

FA-1 T F BEI B THAA F (oG B
Hehoua s1fee Hfe €7
(A) fafys gensii % fau @3l &1 37am

(B) HE&AEA il UM HAT
(C) HeEsil 1 A wE
(D) ol Tt

Frefafaa § | e w72 82

(A) 3T Hehoa Wi W o foar s
=few

(B) WM HeheTAl F WAHF TR T
foram famst e =nfeq

(C) Terdfig =1 wafies X 9T HiE =fey
(D) SHw At

67 H FHIAH HheUAl STHRYT Tl ¢ ?
(A) % HEM 67 F Wi/ Tl &
(B) 6 TUTHA U 60 &
(C) 7F TN uE 78

(D) STd IS T
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106. If

2x
1
(o
1—x

=1, then the value of x is :
1+

(A)

| =

(B) 1
2
© 3

(D) None of the above

106, afe 2%

i =] mquﬁm:

£ T
I=x

i

(A)

G| =

® 1

WM

(©

(D) 39 | 9 HIS e

107. Which of the following may require . Frefafas 7 |/ f&a wfodta faas =t
mathematical thinking ? ST B Hehell 2
(A) Study of English (A) SISt &1 ereqga
(B) Study of Hindi (B) fe=<t =1 sremmw
(C) Study of Social Science (C) wmIfS famm = eregam
(D) All of above (D) 3l gt
108. Mathematics teaching aptitude requires : . it freror sxfiamar % for smevas &
(A) Language of Mathematics (A) TIftTE Y Y
(B) Understanding of basic concepts of (B) TIUT I el Hehourel i gH
Mathematics
(C) Ability for Mathematical (C) wifvrdt Eowor 7 &ma
communication !
(D) All of above (D) 39l gt
SPACE FOR ROUGH WORK / T% &4 & feidl wiig
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109.

110.

111.

The H.CF. and L.C.M. of two numbers
are 50 and 250 respectively. If the first
number is divided by 2, the quotient is 50
and remainder is zero then the second
number is :

(A) 100
(B)
(©)

(D)

125
150

None of the above

a5 L : :
33 5 #of a man's daily output is equal to

50% of a second man’s daily output. If
the second man turns out 1500 screws
daily, then the first man’s output in terms
of making screws is :

1250
2250
1000

None of the above

If /18225=135, then the value of

(V18225++/1.8225 +/0.018225++/0.00018225 |

5

14.9985
1.49985
149.985

None of the above

109.

110,

111.

Ffe < HeAst ®1 e FHEE® (LCM)
R wewH FHfaues (HCF) %99: 250 3R
50 €1 AfS geell T & 2 § 9 1w
ST 50 B SR SNe I A A g5l e
BT

forell e 3 3 e A1 33 % g

=afe % e IeaeT &1 50% ¥ afE gE@
=fe TS 1500 TF <1 & a1 T8l sAfa 51
T T H1 2T Ieae s fRe 22

(A) 1250
(B)
(©)

(D)

2250
1000
T H | HE TR

afg J18225=135, @I
(V/182.25++/1.8225 ++/0.018225 ++/0.00018225 |
T HH B

A)
B
9]
D)

14.9985
1.49985

—

149,985

(
(
(
(D) STH ¥ 9 HiE TE
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112.

113;

Evaluation of mathematics learning
should be primarily :

(A) Diagnostic
(B) Summative
(©)

(D)

Formative

All of above

A student is given several geometric plane
figures and asked to form groups of

similar figures. He has to undergo the

112.

113.

fore e 1 Hedie Yoia: a1 e -

(A)
(B)
©)
(D) e

YEAHIHS
piticac ol
TS

forelt o =1 fafim snficta waaa srefaal

TH, TGV HIad] 1 G I *F o Fa
a1 3™ T=fafad sfear =1 9o s

following process. What is the correct BT | SHITE 6H TR B 7
order ?
(i) Abstraction (i) wftrefim
(i) Deduction ) frm=
(iii) Visualization (i) TR
(iv) Analysis (iv) Taeersm
(A) (), (ii), (iii) and (iv) (A) (i), (i), (i) ¥ (v)
(B) (i), (), (W) and (i) (B) (i), (i), (iv) 3 (3)
(C) (i), (iv), (i) and (ii) (©) (i), (iv), (i) 37 (ii)
(D) (@), (i), (u) and (i) (D) (iv), (@) , (i) 3T (iii)
114. When 0.232323..... is converted into a 114, 4§ 0.232323..... % Turw s § sgen s
fraction, then it is equal to : o 3T /H B
23 23
(8) 5o (A) 9o
23 23
B e ® 100
23 23
€ 39 © 39
(D) None of the above (D) IwE H q H1E T
SPACE FOR ROUGH WORK / 1% &4 & o wig
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115,

116.

117,

A began a business with ¥ 85,000. He

was joined afterwards by B with ¥ 42,500.

For how much period does B join, if the

profits at the end of the year are divided

in the ratioof 3:1 7

(A) 8 months

(B) 4 months

(C) 12 months

(D)  None of the above

How will a teacher evaluate the

understanding of a student about the

concept of perimeter ? |

(A) By giving the student a problem to
find the perimeter of a féctangle of
given length

(B) By giving the student a piece of
thread and plane object to tell the
perimeter of the objeét

(C) By asking the students to tell the
perimeter for which of the two
given plane objects is more

(D) All of above

Of the three numbers, the average of the
first and the second is greater than the
average of the second and the third by
15. The difference between the first and
the third number is :

(A) 15
(B) 45
(©) 60
(D) None of the above

115.

116.

117,

(D)

A 91 TR % 85,000 | & FA &1 FI
T 9% B ST T 42,500 F WY e T
Iz o % 37 H W o9 A 31 F S
® ater T ot B fvae W % ferd e oan?

8 wfe
(B) 4@
12 Tfe
I | 9§ g

uftef @i Heheud & aR H fwt 3 % wng
1 U e FY qeifea w2

B HI S T TR & IET H1 GRY
A FH & fa g9 I

(A)

(B) BT I YT F ITHS AU TIAA T
T a5 ® IRy 99 FE3 F fau
FHEHL

(C) B1E Y, A el T whae aege
o § gard {6 frge 9fify wifyes 2
g

(D) U= Wt

T T § 9 el @R gEd §em w
3itga, gud o di9d gen % daa 9
15 SAfyw &1 Uget SR A @ & W
&

(A) 15
(B) 45
C) 60
I H 9 B TRl

—

SPACE FOR ROUGH WORK / 7% &4 & fordt e

9210/ TE-FET/ELG-M

Set - A



118. An aeroplane flies along the four sides of 118. TF o711 1 =7 Y13 & WY T B4 e
a square at the speeds of 200, 400, 600 200, 400, 600 3 800 for.HY. /521 % 7
and 800 km/hr. Then the average speed ITA | A 3HH 3 T F TR 31 1 it
of the plane around the field is : o B :

(A) 700 km/hr (A) 700 T4t /=@
(B) 350 km/hr (B) 350 f.t. /s
(C) 384 km/hr (C) 384 f&.#i. /5
(D) None of the above (D) 390 H | WS 78

119. The most probable reason for the primary  119. WafiyF BT F 37% FriFR Byt H it
student's inability to retain mathematical I WEA 1 srwedan &1 aife yHus SR
information in their working memory is : g:

(A) Basics of mathematical information (A) TIfOTT T =1 Hel, Hehall W aMefE &
are symbol dependent

(B) Primary students are unable to (B)  wrfieh S Tem ford T qH: w5
recall mathematical information at % H emmd 29 €
the spur of moment

(C) It is difficult for the student to (C) ImHEIfe 3§ 33 9 w5 At
process the information 4

(D) Teaching methods are not (D) foregor fafirn sfaa =8f &
appropriate

120. Which of the following is the more 120. fr=fafes & @ #i9t waffus g
general concept ? THehoaTT &2
(A) Natural numbers (A) wrHfaw demd
(B) Integers (B) ol Hemd
(C) Even numbers (C) =9 H=m
(D) Odd numbers (D) oo e

SPACE FOR ROUGH WORK / T% &4 & fort 5g
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FIFTH PART eIH T
Environmental Tgievur
121. Which among the following can find his 121, fr=fafes § ¥ 8 9f9 & et Wy =t
female from many kilometers away by TEEH, 39! T J FE R R @ @ =
her smell ? AT E?
(A) Ants (A) =i
(B) Mosquitoes (B) #w=X
(C) Silkworms (C) WM =1 #ter
(D) Honeybees (D) AYyHFE!
122. Which of the following mode of childrens 122, =1 # & #1 w1 90 o= ¥ gy =
learning is constructivism ? THAETE] e &2
(A) By means of activity (A) ifafafei & mem |
(B) Classroom teaching (B) el H 3reATH |
(C) By drawing diagrams (C) e T/
(D) By talking (D) awTET
123. Rekha's mother adds alum to water 123, @ %1 9 % fora s aema
collected from the pond everyday in order [ @ Ot # e eed 3
to :
(A) sedimentlight suspended impurities (A) e freifaa srogedl =1 sramfen 0
(B) change hard water into soft water (B) HoR WA H g e H uftafda s
(C) kill germs in water (C) 9T § Hisg et A T
(D) decolorize water (D) 9 I TRfed S :
SPACE FOR ROUGH WORK / T% &4 & fordr smg
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124,

Disease caused due to deficiency of
Vitamin B, is :

- 124, o B,#1 FH § EF aren I €

(A) Scurvy (A) Tl
(B) Beriberi (B) aG-=H
(C) Rickets () forem
(D) Pellagra - (D) THemm
125. Which of the following is an expectation . TATeR0] IR euwmH i oTierd e g |
of environmental studies syllabi ? FAGE?
(A) Concept _ (A) ST
(B) Skill and Informations (B) hIvTeT TE SHRT
(C) Habit and Ethical Value (C) oTea 9 Afes qed
(D) All the above (D) 9 9t '
126. Which of the following is a source of . ST e | 99 vt e |
knowledge in social studies ? FR?
(A) By experiments (A) WM g
(B) By knowledge observations (B) M Fai®Al 9
(C) By lifestyle (©) Sitea deft §
(D) By interaction with nature (D) wHfa % Wy Hafswma ¥
127. Which of the following is an example of . Geftg-fosfta weshl & = ia:fwmstt =
interaction between living and non living R e d § wE e ?
component ? P
(A) Food Chain (A) 3TER S@er
(B) Food Web (B) @& ST
(C) Hunting (C) R #t
(D) Water Cycle (D) I =%
SPACE FOR ROUGH WORK / 7% #hrdl & o wg
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128.

129,

130,

Which one of the following is a set of
diseases caused/spread by mosquitoes ?

(A) Cholera, Dengue, Malaria

(B)  Chickungunya, Dengue, Malaria
(C) Chickungunya, Cholera, T yphoid
(D) Chickungunya, Malaria, T yvphoid

Which of the following is a component of
environment ?

(A) Socio-economic
(B) Natural
(C) Cultural

(D) All the above

Stories and poems can be effectively used
in teaching of EVS at primary level. The
main purpose of using them in EVS is to :

(A) Providing contextual learning

environment
(B) Make lessons enjoyable
(C) Promote linguistic skills

(D) Cater to diversity in classroom

128.

129.

130.

frefafea & @ SF-w g=sd @ a3/%en
a1 I T T § 2

(A) &, S, Heife

(B) fomTfa, S, wefen

(C) fowTfn, &, firamt e
(D) Torsmfran, weiftn, ferant qam

= 5 | #9 ggfern % e £

(A) wrIfSs e snfefs

(B) WrFfas

(C) wifaw

(D) IulE gt

WY W W wEiew arerms  foa o

Feldl Ud Hfaarei =1 gu= 21 ¥ Iyan

o 1w &1 wEfarw s F o

SYENT 1 H&H I2VE ¢

(A) ¥E & foag g=yme amE wwe
HET

(B) UIGI HI SF=REH ST
(C) i el =t w@men 2
(D) a1 fafayar #7 gfd
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131.

132.

133.

134.

In order to introduce the topic on

‘Nutrition’ in class more effectively a

teacher should,

(A) ask the students to open their tiffin
boxes, see the contents, followed by
teachers explanation

(B) give examples of different foods rich
in nutrients

(Cj draw the diagram of digestive
system on the blackboard

(D) show the model of human denture

In a pond, insects and small fishes are :
(A) Primary Micro-Consumers

(B) Secondary Consumers

(C) Tertiary Consumers

(D) All the above

In respect of knowledge building, which
statement is wrong ?

(A) No need of experience

(B) Formation of concept

(C) Need of investigative methods

(D) Need of verification processes

Child labour prevention act was
amended by the government in :

(A) September 2007
(B) October 2006
(C) January 2008
(D) October 2009

131, e B G TR H R s e

a0 T & fore uw s =

(A) foenfedai =t s fofte s @
3 SEent Wt (4iSE) HeET #
fora s aur e # foees F SEE
ST HET AR |

(B) divw weal ¥ sy fafwe e %
IR A =M

(C) VMY W 9= 93 H ARG &
=fey

(D) d <rdl =1 wfred feam =few

Gk i e e 5 e e e = L R G

(A) WaiHH Far-3g9HrE
(B) o Susiamn

(C) s JuMrERT

(D) 3w g4t

. 9 fmior & wed & $F o wyT T B2

(A) SHYE I SAETIHA F T B
(B)  STHYRON AT

(C) st =T Tafersl it sy
(D) HAA ufshais i ravada

. TTER SR SergH Wehem A= 1 g

e T o1
(A) faam 2007 4

(B) TeREX 2006 H
(C) SFEd 2008 H

(D) . eT&ge” 2009 H
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135.

136.

137.

Which one of the following is not a

gaseous biogeochemical cycle in

ecosystem 7?7
(A)
(®)
(C) Sulphur Cycle

Nitrogen Cycle
Carbon Cycle

(D) Phosphorus Cycle

As an EVS teacher, you plan to take the
students to the Zoo. Which of the
following activities would you not allow
the students to undertake ?

(A) Taking along lots of eatables for the
animals at the Zoo.

(B) Try to find out the food taken up

by different animals at the Zoo.

(C) Collect photographs of the animals

they expect to see at the Zoo.

(D)

Take their drawing books along
with them to draw what they see
at the Zoo.

To induce sleep, narcotic drugs taken
may include :

(A)
(B)
(©)
(D)

Heroin
Morphine
Opium

All the above

135.

13e.

137.

=1 7 4 w7 witfrafeat 93 4 g
SAYETEtTE % 6 L2

(A) IS 9%
(B) #Te ush
(C) TTH =

(D) WITRRT T%

TIiar e & e ¥ w9 A ey
ferenfef=il =t fafearr & w13 =t o =03
Bl W W A9 B W B W e
(ToFamhemm) 1 & forg srqmfa =@ 242

(A) Tafearer F wfor 3 fora 37 amy siem
W % fam

fafgarr & wforl grr oo fipn s
AT WIS T ST T T 3 forw |

fofearr & 2@ w1 a9 il %
BT $hel A F o |

AT WY SR g% @ F fow aifs
fafearr 4§ feat ot mitrdt % fax
1 HH |

(B)
©

(D)

i< & 3 ferg oft S areft AR siafit
g:

(A) =
(B) #r®iA
() sTwm
(D) S gt

SPACE FOR ROUGH WORK / T% &T4 & fotd g
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138. Which of the following is a role of teacher 138. a= & dr@a &t ufhan § foge &t yfvw

in children’s learning process ? et ® | 7 2t © 2
(A) Active participant (A) Tfera HiER
(B) Assistant (B) wETE®
(C) Motivator (C) U=
(D) Guide (D) wFieY®
139. Ecosystem is smallest unit of : 139. wiRfrafart 97 fFost gad o e €72
(A) lonosphere (A) AR
(B) Lithosphere (B) faenfemar
(C) Biosphere (C) wEIfEFR
(D) Mesosphere (D) HSIfEREIT

140. Which of the following skill is entirely 140, =1 H & &1 &1 Hrve oo fim 872
different ?

(A) Bicycle driving (A) HTEfRe =E

(B) Swimming (B) &

(C) Language learning (C) e HrEHT

(D) Child’s learning to walk (D) = w1 A =S

141, By which of the following method 141, f= # @ fobm fafu & ool =1 st T
students can be motivated to present 0 ¥ o deafed fwn s g £ 2

informations ?

(A) By drawing figure TNEREEREICT

(B) By drawing table (B) IfeTehTd SATEHRT

(C) By drawing flow chart of processes ©) gfsrensii & gare TEnfas s
(D) All the above (D) S |4l

SPACE FOR ROUGH WORK / T% T & & wig

Set - A 36 9210/ TE-FET/ELG-M



142,

143.

144.

Which of the following is not a part of
constructivism method of learning ?

(A) To work, help is not available from
learned person

(B)  Self help to work
(C) Work becomes easy

Methodology is used repeatedly

Children’s
environment is assessed by survey and

understanding about

analysis, which of the following
understanding is assessed ?

To Careful Watching

(B) To Feel

(C) To Remember

All the above

Which of the following is a reason of
increasing attachment for environment ?

(A) Worry for protection of nature

(B) Environmental protection for
indigenous people and natural

habitats

(C) Loss up to limit of danger due to
human activities

None of the above

(D)

142. 991§ @ 311 =AEE 20 8 9w 51 uhear

143.

Ea ik -

HE FA W SR TAER At 3 g2
T2t firert £

(B) = F ¥ T Wl Heg
(C) = W& & e 2|
YfsHaT 1 ST SR-ar fR S

(A)

Hagm vd favermw § a1 F1 vatE ¥ a9
T HHE S @R | TR T e g
g sm g2

(A) =M | @
(B) WeHgH wEA
(C) &% T I

(D) STEd gt

144. e % 9 968 GUHR F1 FR A § |

FNR?
(A) Wl T 150 1 et Taar

(B) Herart @it iR wrepfas wafard
ferw wafewo Fean

(C) wrEg Afafafiel & wR® #t o 7%
TFEH

(D) 90 H | #E T8
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145. Which one of the following would be the 145, T A0l H&7T w1 Fa % fou gaifus
most suitable pedagogical method for an sy famerea g g =ifed
EVS class ?
(A) Based only on experiment (A) HaS FAT T SHIRG
(B) Based only on lectures (B) el ARSI T T
(C) Examination oriented (C) wiven Sl
(D) Participative and discussion based (D) wmirerfiarees ud == e
146. Which of the following statement is . 9 F T A e F A S W e e
wrong about reading of maps ? ®?
(A) Maps are affected by vision (A) T ¥ T 1 ST A
(B) Maps are consist of signals (B) TRIH HHATH I
(C) Maps are consist of scale (C) T T S 2
(D) Maps are two dimensional (D) e fgfawa g 2
147. Which of the following are treatment . T gTE Fi g frEfatea § § 6
offered by residential rehabilisation ¥ 379R fd =d €2
centers ?
(A) Group work (A) unfesw
(B) Psychological interventions (B) WO TR TEIE
(C) Social skills training (C) WIS el i qieeor
(D) All of the above (D) IoeR wl
148. In a food chain humans are : g @@m»ﬁ@wﬂﬁm@m%:
(A) Producer (A) TAICH
(B) Primary Consumer (B) nerfis IqseRT
(C) Secondary Consumer (C) fdtass Suvirer
(D) Primary and Secondary Consumer (D) wrgfhes wa fadiaes SusE
SPACE FOR ROUGH WORK / T% &Td & fora wime
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149. In which of the following means social

150.

science is different from science ?

(A) Search of relationship between

work-reason
(B) Comparison
(C) Reasoning

Understanding of process of
continuity and change

No child below the age of

shall be employed to work in any factory.

(A) 14
(B) 20
€ 15
(D) 18

~-00o0-

149.

150.

TSR 1 1 8 § fr s v
e 2

(A) - F T Heiy BremT

(B) e HEAT
(C) wrfshapan

(D) Friawan we seem %1 wfFn % qug
LiE

ol wrram § 1 w03 % fo

A &1 34 F T ) Frgea e e T
gl

(A) 14

(B) 20

) 15

(D) 18

~00o0-
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SET - A

SHTC 3iferd T T WA : 2:30 HE } { afferamaw 3ieh @ 150

Maximum Marks : 150

Time for marking answers : 2 : 30 Hours
e ;
1. =8 veA-qfeen § fae s @i

(1) vem 9 - e fas v fae e 1-30
@ fofr s - = 31-60
(3) - S 61-90
(4) =gd . - TR 91-120
(5) TEH WM - W 121-150

2 uw ¥ I & T OMR IR-WZ (Answer Sheet) T Sfed i

-

SHUTTHE Yeaish el fehal Sre |
4. foft &ﬁm%aﬁ!ﬁamaﬁéﬁaqﬁﬁaﬁatﬁqmmﬁﬁ%l

5. OMR SW-¥iE (AnswerSheet)wuﬁmm%rwiréraﬁé @Y 7 9 99 98 W 9 A
3o Tirg = faeEe a1ifz T S A1 98 T B S

Note :

1.  This Question Booklet consists Parts namely :

(1)  First Part : - Child Development and Pedagogy 1-30
(2) Second Part : - Hindi 31-60
(3) Third Part : - English 61-90
(4) Fourth Part : - Mathematics 91-120
(5) Fifth Part : - Environmental 121-150

Indicate your answers on the OMR Answer-Sheet provided.

2

3. No negative marking will be done.

4, Use of any type of calculator or log table and mobile phone is prohibited.
5

While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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